Answer Sheet No. Model Ppcr Mathematics (OBJECTIVE
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PART -1 (Session 2012-14)
(INTERMEDIATE)
Sign. Dy. Supdnt. Fictitious Roll No. (For Office Use)
Marks :20

Time

Sign. Candidate

: 30 Minutes

Note:-  Write your Roll No. in space provided. Over writing, cutting, using of lead peneil

will result in loss of marks. All questions are to be attempted.

1- Each question has four possible answers, Tick (v ) the correct answer. (20)
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MATHEMATICS  ( Subjective)
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SECTION -1

2. Write shart answers of any EWGHT parts, Lt

i) Provetheidemtity:  Cesh () —Siah? (%1 =1
@ e 1, S
(i) IFw LT, +2 . v that JLK—:-J;.."':-_T
GV Find l}l’- R

(v) Bl T‘E- if y=Sin(Zx) & x=

I-r|;.i

(vi] IFmayil+moxd=1—1m%, show that '%’:'!
(vii} Differentiste Cot™' % wi!luo-.q.-ncl.mx

...:'1".. X
{wii) Find if Y= ok
fix} Find { I:!,_'l i f{a)={x 41}
(x) Find smtionary points for the function fix)= S «6u+2
fxi} Define increasing and decreasing function.

&
{xiil) Find vy when y=(2x + 57

. Write short aniwers of sny EIGHT puris; 16

(i Umduﬁmm!sﬁnd Y. und $ if xy - tnx=¢ *
(i) Evahate [(dx 4107 e

1
{iil} Fvaluste ]'—-‘!—, di

) Find o
) Find [ dx

(W) Vind J’r‘;r:m—s&m dx

(ix} Find I{x’ + 1)1

fx)  Find aces bounded by »= Cosx from x —._% thx =1

(i} Graph the solution region of Hnear negiabizy 3x -2y 2 ¢ nxy-plane.
{xi)  Defivenn objective funclion and optimal soluton.

. Write shorl ansvers ofmay NINE parts iy

(i)  Fiod the coordinales of the point which divides internully the join of Af—6, 3vand 8(5,-2) intheratio 2: 3,
(i) Find b sach ther point A(-1, by, B3, 25 and C(T,3) are collinew.
(i} Conver: the-eguation of straight line 2x —4y+11 =0 into two intessepts form.
(¥} Find the point of intersecting of the lines s+ 4y -12=0and x—Jy+3 =0
(v} Find the lines represented by 3x7 ¢ Ty +2y* =4
{ Continged P/2)
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(¥} Find the cemter wd rmding of the cirels 57+ Sy +lax 412y ~10=4
{vii) Find equatin of tngent to e cirele x7 4y =25 at (3, 4)

{viil} Find focus and dirsewix of the parshola x ¥ 5o Iy

{ix) Find eccenmwicity of the sltipue 258" 95" « 225

©

{x] WOVisthe origiiand OF = AB, find peint P when A 200 B sre (=3, 7) d (1, 0) respestively.

(%i)  Find o, s thut o+ (< 1)+ 2k =1
(xii) Find sualar A so thatthe vecors 2740+ 5k and 11 + §+AF are porpendicular
(i) Prove tiat axibs 0} ¢ by e+ ) #os(eshy=0

SECTION — 11 Auempt sny THREE questions Each question carries 10 marks, |

; Lim ax-1
5 (a}Pm'f-nthu!_m——x ~=log.a

(n]]j' K= ;ijﬁ iy =b&in'1ﬂ ,showw flmi 2 E +hiapd=4
ix

fh. fasEvalunte fu-Sin':xd:i
fB)Find the distance boreaen the poullal Boss 1 2% + Sy — &= Gamd 124 +
equstion of the parallel lize lving midway betweey them,

7. (a)Salve the differential equation = 243 ify =6 whenx = 3

I find tha

() Minimize 2 = Iy + v subjec! to the consraimte xSy =15, yafvzd x>0, y20

8. (a)Find cquution of civcle passing through A 3, -1), B{0, ) ond wing
{BiPrave that the line segments joining the mid poinis of
& parallelogram vslng veetors,

at 4x—3y-3 = 0
of o quedrilateral taken in order form

9, (4)Find the centre, Toci, eccentricity, verfices of RO F 12—y - ly+2=0

(b)Find the vohime of tefrahedron with the v

A

oL B0, 2, O, L4 ) and D( 5,3, 0)
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